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Schiaparelli enters atmosphere
Heatshield protection during atmospheric deceleration

Time of maximum heating: 1 m 12 sec

Time: 0 sec
Altitude: 121 km
Speed: 21 000 km/h

i{

Altitude: 45 km
Speed: 19 000 km/h

Parachute jettisoned with rear cover

Time: 5 m 22 sec
Altitude: 1.2 km
Speed: 240 km/h

Thruster ignition

Time: 5 m 23 sec
Altitude: 1.1 km
Speed: 250 km/h:

Credits: ESA/ATG medialab

Thrusters off; freefall

Time: 5 min 52 sec
Altitude: 2 m
Speed: 4 km/h Time: 5 min-53-sec

Altitude: 0 m
Speed: 10 km/h

European Space Agency
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F-18 HARV
Smoke Test

i
late 1980's
Dryden
Flight Research Center
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600 ft
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W Glideslope

P Timme: 0.010400 s
oo Altitude: 999.91 ft

0.35 nmi
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Prediction Horizon

Reference Trajectory
Predicted Output
Measured Output
Predicted Control Input
Past Control Input

Sample Time

K+2
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ParBayesianOptimization in Action (Round 1)

0.66

Score (Mode! Performance)
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True vorticity

e

True velocity x

Predicted vorticity

Predicted velocity x

True velocity y
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Ground-truth pressure Predicted pressure

-197. -96.7 3.54 104. 204.
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